
SAP ABAP table ITXPDAT {Internal Work Structure for Table TXPDAT}

ITXPDAT

EXPOBJ [CHAR (2)]

EXP_PRIO [NUMC (2)]

INSP_LOT [NUMC (12)]

EBELN [CHAR (10)]

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]
 ITXPDAT-EBELN = EKKO-EBELN 1..N

1

QALS

MANDANT [CLNT (3)]

PRUEFLOS [NUMC (12)]

 ITXPDAT-INSP_LOT = QALS-PRUEFLOS 
1..N

1

TXPDOBJ

MANDT [CLNT (3)]

EXPOBJ [CHAR (2)]

 ITXPDAT-EXPOBJ = TXPDOBJ-EXPOBJ 

1..N

1

TXPDPRIO

MANDT [CLNT (3)]

EXP_PRIO [NUMC (2)]

 ITXPDAT-EXP_PRIO = TXPDPRIO-EXP_PRIO 

0..N

{0,1}


